2023.07 &
Eron’

O EE~E (0.8~25MPa) [CHIG U 1/ Y NEEEN Y
UYS—TT,

SHEEEII /NI UV S

No.E-1114

| COMPACT CYLINDER

A ouvog

\ ()

®E
[o/DN
¢oC

1 |

KA J G H
2] | 20— FA
DR W€
iz PCSA0160 PCSA0221 PCSA0241 PCSA0301 PCSA0361 PCSA0451 PCSA0551
ZMO0—273-R|[ S M L S M L S M. L S M L S M L S M L S M L
5 Zh0—7 6 1016 6 10:16 8 12:20 8 12 20 10:16:25 10 16 25 12 20 32
z A EUXEYF) | M16X1.5 M22%1.5 M24x1.5 M30X1.5 M36X1.5 M45X1.5 M55%2
z B 143 203 223 283 343 433 526
= C 7.5 1.2 13 17 19 28 345
¢ D 8 12 14 18 224 30 355
E 15.5 212 245 30 355 45 55
FA 35 41 50 35 43 56 395 47 635435525 72 51 64 85 59 72 945 64 795 102
G 185245335 13 21 34 175 25 415 18 27 465 235365575 23 . 36 585 27 425 65
H 6 8 8 9 10 12 12
J 5 7 7 8 8 12 12
KA 55 7 7 8.5 9.5 12 13
L 4 5.5 5.5 7 8 10 1
MA [EUXES) | M5X0.8X8 M6X1.0X7 M6X1.0x7 + M8X1.25X10 = M8X1.25x10 - M10X1.5X11  M12x1.75x12
N 7 10 10 14 17 24 30
P 14 19 22 27 32 41 50
ouvg 1BP9 AS568-015(90°) | AS568-017(90°) : AS568-020(90°) | AS568-120(90°)  1BP31.5 1BP39
Wit
iz PCSA0160 | PCSA0221 PCSA0241 | PCSA0301  PCSA0361 | PCSA0451 PCSAO551
2h0—73—R S M L S M L S M L S ML S ML S ML S M L
280—7 mm| 6 10:16 6 10 16 8 12:20 8 12 20 10:16:25:10 16 25 12:20 32
TS HA EHER) KN | F=(0.050xP)0.024  F=(0.113XP-0.041 - F=(0.154xP)-0.060  F=(0.254xP-0.099 - F=(0.394xP)-0.150  F=(0.707%P-0.319 F=(0.990xP)-0.452
YUV ERE cm? 0.5 1.1 1.5 2.5 3.9 7.1 9.9
JUVSEE cm*{0.3.05080.7:1.1:1.8:1.2 1.8 3.1 2 3.1 51:39 6399 71113177119 198317
UU—2\%H N|12.5~23.5: 25.7~41.2 32.6~59.7 50.1~99.1 79.4~150 | 157~319 = 236~452
REEAES MPa 25
RIK(EBIES MPa 0.8
it FE MPa 375
FERRE (@ 0~70
Be kg 0.03:0.04:0.05:0.06:0.08:0.1:0.08:0.1:0.15:0.15.0.2:0.3:0.3:0.4 0.5.0.5 0.6:0.8 0.8:1.0 1.3
XUV HAGHER) DRER PV HAKN) PHHEHE (WPa) ZRUES .
L lieEs
F—9—No. No. 4% F—9—No. No. 4% F—5—No. No. [ F—=5—No. No. ity
114438 | PCSA0160S (18,100 114441 | PCSA0221S [18,800 114444 | PCSA0241S [20,000 114447 | PCSA0301S |23,300
114439 |PCSAO160M 18,100 114442 |PCSA0221M[18,800 114445 |PCSA0241M[20,000 114448 | PCSA0301M |23,300
114440 | PCSAO160L [22,100 114443 | PCSA0221L [25,500 114446 | PCSA0241L [26,600 114449 | PCSA0301L |31,300
F—9—No. No. A% F—=9—No. No. i3 F—=5—No. No. 4%
114450 | PCSA0361S [25,500 114453 | PCSA0451S [30,500 114456 | PCSA0551S 36,500
114451 | PCSA0361M |25,500 114454 |PCSA0451M[30,500 114457 | PCSA0551M 36,500
114452 | PCSA0361L 33,300 114455 | PCSA0451L [38,900 114458 | PCSAO551L |44,700
SINCE 1560
532 CADF—959y0—K - EERAE Web ¥ bT! [ 7~V \ (xj\ NABEYA co. L.
FriendsNo.219/2022. 1 1&EAR




BEII A

/A
¥ co4}3j%2
© ~ < E
R R0 E%
© max.H
6]
X PCSA0160 = PCSA0221  PCSA0241 = PCSA0301 = PCSA0361 = PCSA0451 = PCSA0551
A (FOXEYTF) M16X1.5 M22X%X1.5 M24X1.5 M30x1.5 M36X%X1.5 M45%x1.5 M55X2
H 6 8 8 9 10 12 12
T 14.5 20.5 225 28.5 345 43.5 53
U (min.) 1212 :12:14:14 14:14 .14 14:15 15:15:16 16 :16:18 18 :18 : 20: 20 : 20
(max.) [ 23:29:38:20:28:41 24 :32 48 26:35:54:32:45 66 :34 47 69 38 :53:76
V 3 3 3 6 6 8 8
W 0 35 55 6 8 10 13
EEL) C1 C1 C1 C1 C1 C1 Cc1.5 5
WEH{ESA WL R ;
PCSA PCSA E_
10 e pcsaozel €0 By
/ / \ k
8 / 50
£ 6 / / y PCSA\é‘zpw 0
/A
/ PCSA0551
3 / / / P iiﬁgfﬂ 220 /PCSA0451
- Z&//’// . R s
—1 é E// PCSA024]
] [ 00‘ 5410/15/20 25 OO‘ 5 10 1:0 25';%%&8%%6
\BEA = 08 MARE (MPa) 08 GHaRE (MPa)
UU—Z8F (FHERIRRE) Ov I8
P2 R YRBNAZHTUU—Z BEERETEECA R
BERTLET, BEDCEUBELET,
(B2 R V3LAKE) (PR N YZHRE)
NEFHDYVUVT—ZFBUTI S SERH
1
[ e}
| T
IE["
BV S—=RIRUEI SV S
‘ AEEEIBEP.527E8RBULTL RS, ‘
SINCE 1560 . .
NABEYA co.uo. CADF—99 50—k - EEERIE Web B hT! [ FA¥ \ 579
FriendsNo.219/2021.1124IERE






